vorfahr (V,N) :- elternteil (V,N).

vorfahr (V,N) :- elternteil (Z,N), vorfahr(V,7Z).

vorfahr( V , frank).
Regel 1: elternteil ( V , frank).
Ausgabe: V = ares.
Regel 2: elternteil ( Z , frank), vorfahr( Vv , 72 ).
R: elternteil ( 7 , frank).
A: Z = ares.
UND
R: vorfahr( V , ares).
Rekursion: /
vorfahr( V , ares).
Regel 1: elternteil ( V , ) .
Ausgabe: v=___
V -
Regel 2: elternteil ( Z2 , ), vorfahr( V , Z ).

R: elternteil( 7 , ) .

A: 7 =
7 =

UND

R: vorfahr( VvV , ) .
vorfahr( VvV , ) .

Rekursion: _
\>

vorfahr( V , zeus).
Regel 1: elternteil ( V , ) .
Ausgabe: false.
Regel 2: elternteil ( 2 , ), vorfahr( V , Z ).

R: elternteil( 7 , ) .
A: false. [Abbruch]

(Regel 1)
(Regel 2)

Rekursion:

vorfahr( V ,
Regel 1:
Ausgabe:
Regel 2:

hera) .

elternteil ( V ,
false.
elternteil ( 2 ,

R:
A:

elternteil ( 72 ,

false.

[Abbruch]
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vorfahr (

vV, 7

).
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